

$$g(n) \cdot f(\tan x, \sqrt{p} \cos x) = g(n) \cdot f(\tan x, \sqrt{p} \cos x) (1 + \tan^2 x - \sqrt{p} \sin x) = 1$$

$$x \rightarrow \frac{\pi}{2} \quad g'(n) = f'(1 + \sqrt{p} + \sqrt{p}) (1 - \frac{\sqrt{p} \times \sqrt{p}}{p}) = \sqrt{p} \cdot f'(p) \times 1$$

$$f'(p) \sqrt{p}$$

$$\frac{f(n)}{f'(n)} = \frac{1 + \cos^2 n}{1 - \cos^2 n} = \frac{(1 + \cos n)(1 + \cos^2 n - 1 \cos n)}{(1 + \cos n)(1 - \cos n)} = \frac{\cos^2 n - 1 \cos n}{1 - \cos n} = 1$$

$$f'(\frac{\sqrt{n}}{4}) = p g'(\frac{\sqrt{n}}{4}) = (f - p g)'(\frac{\sqrt{n}}{4})$$

$$f - p g = \cos^2 n - 1 \cos n = \cos^2 n - p \cos n = \cos n (\cos n - p) = \cos n (1 - \cos n) = 1 - \cos n$$

$$(f - p g)' = \sin 2n = \sin \frac{\sqrt{n}}{4} = \frac{1}{p}$$

$$x \rightarrow \frac{\pi}{2} \quad f(n) = (f(n) - p) \sin \frac{\pi}{2} = f'(n) \sin \frac{\pi}{2} = f \sin \frac{\pi}{2} = f$$

$$x \rightarrow \frac{\pi}{2} \quad f(n) = (f(n) - p) \sin \frac{\pi}{2} = f'(n) \sin \frac{\pi}{2} = (f \sin \frac{\pi}{2} + (f(n) - p) \sin \frac{\pi}{2}) = f \sin \frac{\pi}{2}$$

$$p(f \sin \frac{\pi}{2}) = p \sqrt{4} = 2 \sqrt{p} = \sqrt{p} \sqrt{4} = \sqrt{p} \sqrt{4} = \sqrt{p} \sqrt{4}$$

$$1 \sqrt{4} = 2 \sqrt{4}$$

$$y = ax + p = f(n) \cdot y = f'(n) \cdot y$$

$$f(f) = -fa + p$$

$$f'(f) = -a \quad f(f), f'(f) = -fa + p - a = -a + p = -1$$

$$0a + p = a = \frac{p}{0}$$

$$f'(f) = -a = -\frac{p}{0}$$

$$y' = \frac{1}{v} \frac{dy}{dx} = \frac{1}{v} \frac{d}{dx} \left(\frac{a+x^m}{(m+1)^m} \right) = \frac{1}{v} \frac{a+mx^{m-1}}{(m+1)^m} \quad -5$$

$$\frac{a+1}{m+1} = \frac{1}{v} \frac{dy}{dx} = \frac{1}{v} \frac{d}{dx} \left(\frac{a+x^m}{(m+1)^m} \right) = \frac{1}{v} \frac{a+mx^{m-1}}{(m+1)^m} = \frac{a+1}{m+1} \quad -6$$

$$m^m + 14m + 0 = Van - V \rightarrow m^m + (14 - V)m + 14 = 0$$

$$Va + 14 = m^m + 14m + 1 \quad Va = m^m + 14m - 14$$

$$m^m + (14 - m^m - 14m + 14)m + 14 = 0 \rightarrow m^m + 14m - 14m^m - 14m + 14 = 0$$

$$m^m + 14m - 14m^m - 14m + 14 = 0 \rightarrow m^m - 14m^m + 14 = 0$$

$$m^m (1 - 14) + 14 = 0 \rightarrow m^m (-13) + 14 = 0 \rightarrow m^m = \frac{14}{13} \rightarrow m = \sqrt[13]{14}$$

$$Va = m^m + 14m - 14 = a + 14$$

$$f'(x) = 0 \rightarrow \text{نقطة حرجية}$$

-9

$$m^m + a = 0 \rightarrow 14 + a = 0 \rightarrow a = -14$$

$$1 - 14 = b = 0 \rightarrow b = 14 \rightarrow b - a = 14 - (-14) = 28$$

$$\lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \frac{\sin^n(x) - 0}{(1 - \cos x)^m} = \frac{\sin^n(x) x^{m-1}}{(1 - \cos x)^m} \quad -10$$

$$\frac{x^{m-1}}{x^{m-1}} = \frac{\sin^n(x)}{1 - \cos x} \rightarrow \frac{x^{m-1}}{x^{m-1}} = \frac{\sin^n(x)}{1 - \cos x} \rightarrow \frac{x^{m-1}}{x^{m-1}} = \frac{\sin^n(x)}{1 - \cos x}$$

$$f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \frac{\sin^n(x)}{x} = \frac{x^{m-1}}{x} = x^{m-2}$$

$$m^m + 14m - 14 = 0$$

$$y = \frac{\sqrt{n+1}}{\sqrt{n-1}} \quad \sqrt{n} \cdot \frac{y+1}{y-1} \xrightarrow{20 \text{ قسمة}} \lambda \cdot \left(\frac{y+1}{y-1}\right)^n \quad .1$$

$$f'(n) = \frac{(n+1)^n}{n-1} \cdot (f^{-1}(n) \cdot \mu(\frac{n+1}{n-1}) \cdot \frac{-n}{(n-1)^2})$$

$$2n^2 \cdot \mu \times \frac{w}{1} \times \frac{-n}{1} = -1^N$$

$$f(n) = (n^2+1)^n (an+1) \quad f(0) = 1 \quad \rightarrow \frac{1 - (n-a+1)}{1} = -1 \quad .9$$

$$f(-1) = \lambda(-a+1)$$

$$\lambda(-a+1)^n = -\mu \times \mu \times w \quad \mu \times -1 \quad a = -\frac{1}{\mu}$$

$$f(n) = (n^2+1)^n \left(-\frac{1}{\mu} n+1\right)$$

$$f'(n) = w(n^2+1)^n (\mu n) \left(-\frac{1}{\mu} n+1\right) + \left(-\frac{1}{\mu}\right) (n^2+1)^n$$

$$n^2 - \mu a - a \times 1 = w \times f \times \mu \times \frac{1}{\mu} + \frac{-1}{\mu} \times \lambda \times 1^N = f \times \lambda$$

$$y = \sin x \cos^2 x \quad x = \frac{\pi}{2} \rightarrow 1 \times -1 = -1 \quad \frac{0 - (-1)}{\frac{\pi}{2}} = \frac{1}{\pi} \quad .10$$

$$x = \frac{\pi}{2} \rightarrow \frac{\sqrt{2}}{2} \times 0 = 0 \quad \frac{\frac{\pi}{2}}{\frac{\pi}{2}} = 1$$

$$y = \sin^2 x - \cos^2 x \quad x = \frac{\pi}{2} \rightarrow \frac{1}{2} - \frac{1}{2} = 0 \quad \frac{0 - 1}{\frac{\pi}{2}} = \frac{-1}{\pi}$$

$$x = \frac{\pi}{2} \rightarrow 1 - 0 = 1 \quad \frac{1}{\frac{\pi}{2}} = \frac{2}{\pi}$$

$$\frac{\frac{\pi}{2}}{\frac{\pi}{2}} = 1 \quad \boxed{1}$$